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2. At a certain instant ship Q is at a distance of 4a due east of ship P.
Q is moving northwards with constant speed u and P is travelling with constant speed

211

Find the direction of P ifit is to intercept Q.

Find the time 7, in terms of @ and », it would take P to intercept Q.
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If, instead, after time = has elapsed, the speed of P drops to constant speed u

without changing direction, find, in terms of g,

M
(ii)

the shortest distance between P and Q

the distance each ship has moved from its original position to

its position when they are closest together.

Direction : 2using = u
= sing =1 or a =30
4a

Time: 2ucosa(T)=4a = T = :
u

After —z— seconds P has moved 2 ucose (g] = 2a East

New position of P and Q
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